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� &RPSUHQVLRQH�RUDOH��FRPSUHQGH�
SDUROH�HG�HVSUHVVLRQL�IDPLOLDUL�GL�
XVR�TXRWLGLDQR�H�IRUPXOH�PROWR�
FRPXQL�SHU�VRGGLVIDUH�ELVRJQL�GL�
WLSR�FRQFUHWR�

� &RPSUHQVLRQH�VFULWWD��FRPSUHQGH�
VHPSOLFL�WHVWL�VFULWWL�H�EUHYL�OHWWHUH�
SHUVRQDOL��� 3URGX]LRQH�RUDOH��GHVFULYH�LQ�
PRGR�VHPSOLFH�VH�VWHVVL��OD�
IDPLJOLD��JOL�DPLFL��OD�FDVD��OD�
VFXROD��O¶DPELHQWH�FLUFRVWDQWH

� ,QWHUD]LRQH��VD�LQWHUDJLUH�LQ�
DWWLYLWj�GL�URXWLQH�FKH�ULFKLHGRQR�
XQ�VHPSOLFH�VFDPELR�
G¶LQIRUPD]LRQL�VX�DUJRPHQWL�QRWL�
ULJXDUGDQWL�VH�VWHVVL��OD�IDPLJOLD��
JOL�DPLFL��OH�DELWXGLQL��OD�FDVD��LO�
WHPSR�OLEHUR��O¶DPELHQWH�
FLUFRVWDQWH��SXUFKq�O¶LQWHUORFXWRUH�
SDUOL�OHQWDPHQWH�H�FKLDUDPHQWH�H�
VLD�GLVSRVWR�D�FROODERUDUH�

� 3URGX]LRQH�VFULWWD��VFULYH�VHPSOLFL�
WHVWL�H�PHVVDJJL�UHODWLYL�D�ELVRJQL�
LPPHGLDWL��6FULYH�EUHYL�OHWWHUH�
SHUVRQDOL�ULJXDUGDQWL�VH�VWHVVL��OD�
IDPLJOLD��JOL�DPLFL��OH�DELWXGLQL��OD�
FDVD��OD�VFXROD��LO�WHPSR�OLEHUR��
O¶DPELHQWH�FLUFRVWDQWH


